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IB : mate rate of unemployment
Taking a trend of unemployment rate t adjustments

Premise : on average, labor market is efficient
Problem.

.

No guarantee that labor market is efficient
on average →

in matohingmodelg
no reason to believe that labor market is efficient.

P¥oah: acceleration's Phillipsame

( Friedman ) : target unemployment rate sukh
that inflation remains constant .

Prothero • care about other things than keeping
inflation constant .

• complete disconnect between
inflation & unemployment .

-

Efficientunemployweutnateimmatohingmodel.ie
Efficient maximizes social welfare .

Socialwelfaei welfare of all individualssum of
tailing

Assumption Cobb - Douglas matching function



Asst¥dwfi.
• Linear utility function over consumption ( risk

neutral)
→

all individuals value consumption the same

→
can compute aggregate utility from consumption
by aggregating consumption = output .
•
Dis utility from work

= dis utility from

searching for a job → value of time
is the same for employed I unemployed waka,

→
value of time is not relevant for welfare .

⇒ sofae is determined solely by aggregate
consumption : aggregate.

Definition effiuut unemployment rate is the

unemploymentrate that maximize .

benevolent

soiree . V government that can allocate

wakes between unemployment , producing , I

recruiting in order to maximize welfare = output .



Social planner is subject to matching function ,
production function , recruiting process ,

etc
.

Social planner picks¥u to maximize

output ⇐ picking tight to maximize

output .

Efficientunemploymenbnateisunemploymu.tn#dEouup.

solutiontosocialplanneispnoblem.mgx y f - Y -- a . NI
. picking T⇒ picking ⑤

⇐ mgx Not
→ fi Eiti,

'as

T
- recruiter ) producer
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sosounaibW.
O that maximizes

social welfare output = # of producers is given by

f- n) u co) = n TK)

¥gI=7⑦ → effabu market tightness
@
*

.

→ efficient unemployment rate : u

't

= u lot) = I

→ efficient level of output = a .
µ foe )
' tflot)

= A . Y
* + ( Ot )

apple.catimtotheuslabama.be#
Research on matching function ( Petnongoca I Pissaides, Boi) :
q = 0 . 5 ⇒ %.n =

I



Ince : labor market is efficient when u=
Rule flhunb .

.

-

# unemployed workers = # recruiters
L t

idle non - productive

Graphical representation of efficient unemployment rate :

T.tt#L#employed wakens
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In¥d : wage function may
not guarantee that

O =
e-
*

→ firms may not have the

incentive to post a # of vacancies ouch Rah

O =
Ott and U = Ut and so on →

government intervention may be needed

to bring labor market closer to efficiency .



EfficientunemploymenbnateinBeveridgeannnodels.ie
Aim: Model admits a Beveridge curve :

o-
where the function ol u) is decreasing , carven .

Examples :
- Matching model

-

Mismatch model

-
Stock - flow matching model

Adney. Many countries have a Beveridge
curve → method is applicable .

Twokeypanametusi - recruiting cost : r wakaslvacang
- social value of unemployment
time (employment time :

Z

Z > 0 a Z Z O -

{one : SW -- ftp.t- 4) - D- x r t z .
U

T T
# employed workers # recruiters ✓#

"

output
= producers

from
= output unemployment

"



Social welfare / capita -
-

sty = f - u ) - Vx r t Z.ve

↳ swlut-4-ultz.u-vfuj.ir
Efficient unemployment rate u

't

maximize :I swim -

- vk.net#einean- Fungi:
Necessary condition for a maximum f- the social welfare

function is : daisy = O ' ( first - order condition)

Since sur la) is concave : necessary condition is
also

sufficient → any u such that dswldu = o is a

Mahimum ( maximum will be unique ) .

Efficientunewploymentnatesatisfn.es#dswu-.- ( r - t ) - o
'

tu ) x r = O

⇒ v'cuT=-①
• Slope of Beveridge curve =

- ( r - z ) / r

• Glu ) is convex → o
'

cul is strictly increasing -s
efficient unemployment rate is unique .

•
r t ⇒ u

't t I .
z t ⇒ u

" T
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Famnlafalheefficimtlabamankettightnesscmditimfalabor market efficiency : v'ciiI=-i
Tightness : ⑦ = vlu

in?:÷gge:h!÷; e=.df
E =

-

Uy - off =
- at

←

Efficiency condition : =

*

Efficiency condition : o*=y.
Zheyfaits : . Z : value of unemployment

z t ⇒ O
't

tu
,
u
't t

• r : recruiting cash

r t ⇒ Ot t
,
u
't t

• E : elasticity of Beveridge ane
E T ⇒ O

't

tu
,

u

't t



Apphiaimoveabammet :

• 2.51 of labor costs devoted to recruiting ( Ygsg,
↳ s are recruiters

r±0
• 13% - 358 of lot earnings a labor

productivity) replaced by leisure I

(
home production

13% f t t 351 → Zr

•
E : den v
Tena

in.

Coefficient in regression .
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